Chapter 32
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Assume the United States and France use the same amount of resources to produce jeans and wine. Figure 1 represents their production possibilities curves. Use it to answer questions 1 through 8.

1. What is the domestic exchange equation of the United States?

2.
What is the domestic exchange equation of France?

3.
The United States would be willing to trade 3 pairs of jeans for how many bottles of wine?

4.
France would be willing to trade 2 bottles of wine for how many pairs of jeans?

5.
The United States has a comparative advantage in the production of which product?

6.
France has a comparative advantage in the production of which product?

7.
The United States has an absolute advantage in the production of which product?

8.
France has an absolute advantage in the production of which product?

Figure 2
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Assume Brazil and Argentina use the same amount of resources to produce coffee and wheat. Figure 2 represents their production possibilities curves. Use it to answer questions 9 through 16.

9.
What is the domestic exchange equation of Brazil?

10.
What is the domestic exchange equation of Argentina?

11.
Brazil would be willing to trade 3 bushels of coffee for how many bushels of wheat?

12.
Argentina would be willing to trade 4 bushels of wheat for how many bushels of coffee?

13.
Brazil has a comparative advantage in the production of which product?

14.
Argentina has a comparative advantage in the production of which product?

15.
Brazil has an absolute advantage in the production of which product?

16.
Argentina has a comparative advantage in the production of which product?

